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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
ot fi 2R T f -

(@) Write an identity matrix of order n.
n T@E <GBl G (e ol | '

(b) What is the second order condition for
minimization of two variable functions?

51 bR e R e e e R
5CH! < 2
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(2) (3)

{c) Define a scalar matrix (h) Define homogeneous function.
C € € as ar It .

{ AR ' o . 2l
b1 A e e g T T TR
(d} State the condition under” wl_zich‘ s () Give an example of a homoltll;etlc
QO=50K orB s a linear homogeneous function which is not homogeneous.
production function. : 451 TNEel FEe enRad faan Rt i TN
Q=50K 1P Teow Fomidl weraiie Siam TE TV

S SRAT T (IRIF BT SeaT 24 | |
. Write an implicit function.
fe) Write a null matrix of order 3 x2. |

<o SR e ol |
3 X2 IR G5l & e o )
() Find the value of the following 2. Answer the following questions 253
determinant without e€xpansion : e T
oz R R L DS e
ReR s wae o et o R it .
41 ; =18 3.5
0 2 o then

4 3 4 (a) IfA=[“1 3] pRd B'[_s -3]’

o2 %5 A+B

6 1 6| find A +25. b

] b i as 2] belr B=[-5 —3] %,
fg) X U=V(x,y)is the utility function and \ [ e
B=xPx+yPy is the income of the | o8 A+ B3 TR Fidfe w91
consumer, then write the Lagrangian |
function. E :
A matrix.
q% U=V(x y) CoEfe Faq ‘ (p) Define trace of a m
B=xP, +yP, wm ¥om =, com AlNed J (o SR 7
FECH! e | |
‘ ! 24A/560 (e e
24A/560 T
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t4) (S)

2 4 (b) Evaluate :
{c) Given A=|5 6| find A" e =1 :
17 8 23
S 42 2
e A=|5 6| A’ &) 2plrd
a8

(c) Solve the. following market model by

(d) Write a first-order linear differential using Cramer’s rule :
equation. So7e Tl WA SRC6l (AR e s
51 2T AR SR HRee o | il
aoken o Qa = 0s
(¢) What is a difference equation? s LNei S ‘% Q4 =50-2p
Co IR o 92 fefal e Quizzl0FOP
_l ‘:.{.“..-. :& S ) J . it ;
\Z, ?\ "_’,} § (d) Find _‘;‘% from the implicit function

2 2
3. Answer any four of the following questions : F(y, x)=x" tY -9

5x4=20 dy

 oufRs ¥ F(y x)=x> +y® -9% =

fadfg 41 |

TS il 2R R e wiRem ew g -

4 1 0O
(@) Given A:[_1 7], find K such that

followin differential
A% _8A+KI-=0. (e) Solve the following

equation :
TR 10 -
4 Az{-l 7]' A®-8A+KI-0 o S ARPICHT LA A :
Kamﬁ‘ﬁ@-‘l %x‘li-i-Sy:S, y(0)=3
24A/560
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( 6)

Show that Cobb-Douglas production
function is a homogeneous production
function.

TG SO FORCHl A Fe el
e |

4. Answer any four of the following questions :

© 10%4=40

oot Al PR R @i wike[ Tea fi

(a)

(b)

24A /560

Solve the following simple national
income model by matrix inversion :
e i Sow WRE e Wil sferm
A S TN 241
Y = C e Io ar GO
C=a+bY, 0<b<1

A monopolist discriminates prices
between two markets 1 and 2 and his
total revenue functions are given by
TR, =55Q, -407
TR, =25Q, -3Q3
and the total cost function is given by
C=20-50+2Q% where Q=0 +0Q,.

Find the profit maximizing output to be
sold in two markets.

{ Continued )

(7))

CE GHColoA TPNRNCE T3 IT[ 1 SF 29
w4 ReTad I HF (9T FP qe2 TES

Fae g wee @

TR, =55Q, —4012

TR, =25Q, -3Q2
e ORI T Few W SR
C=20-5Q+2Q%, ¥T Q=0Q, +0,. T
THAS JPING D S A T
sffqaer fefy 31 1

Analyze the following market model for

stability :
©\ oo fia e WRCeR el fAees w9
. 0, =60-4p
Q,=-10+p
P _310,-0.)
dt— d s

(d) Obtain the consumer surplus of the

following demand function, given the
market price :

qE 4 fr 4l eI BIfRM WO v
oIEH U5 fdy 41

Q=50-2p, p=20
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(8)

{e) Derive equilibrium conditions of
multiplant monopoly mathematically.
MAFe  efoE  qola  T@RE
ST 92 Sferea |

() Given demand and supply for the
Cobweb model as follows, find the inter-
temporal  equilibrium ° price, and
determine whether the equilibrium is
stable :

Coe fral TRTEE WG viRh o e
Feld 29l HBSANRF SRRy 77 Fiefy 91 S
SIPTRICER el ey 4

Qat =18-3p;, Q5 =-3+4p,_,

(9) Discuss the properties of determinant.

e oz e <5 |

(h) Minimize y = x? - X)Xy +2X,, subject to
2x; +4x, =12,
2X) +4x; =12 YIS y=x2 - x,x, +2X,
T e S ey 4 )
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